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(ALL BATCHES) 
DATE: 18.08.2018 MAXIMUM MARKS: 100 TIMING: 3¼Hours 
 

PAPER 6 : AUDITING 
 

Answer to questions are to be given only in English except in the case of 

candidates who have opted for Hindi Medium. If a candidate who has not opted for 

Hindi Medium. His/her answer in Hindi will not be valued. 

Question No. 1 is compulsory. 

Candidates are also required to answer any Four questions from the remaining 

Five Questions. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of questions first answered 

in the answer book shall be valued and subsequent extra question(s) answered 

shall be ignored. 

Wherever necessary, suitable assumptions may be made and disclosed by way of 

note. 

 

 

Question 1: 

dkj.klfgrof.kZrdjsa¼la{ksiesa½D;kfuEudFkulghgSvFkokxyrgSA 

(a) foÙkh; fooj.kfeF;kfooj.kgSrFkkvdsa{kddkfu.kZ;uesablizdkjdkfeF;kfooj.klexzrFkkO;kidgS] 

mlse;kZfnrjk; dkstkjhdjukpkfg,A 

(b) ,d la;qDrvdsa{kdvdsa{kdfjiksVZesadojgksusokysekeyk ds laca/k esala;qDrvdsa{kdksadkcgqer ds erlsck/; 

ughagSA 

(c) dEiuh ds fo:) /kks[kk/kM+hdksvdsa{kd }kjkviuslaKku ds 45fnol ds vanjdsanzh; 

ljdkjdksizfrosnudjukgksxkA 

(d) vads{k.kdkeq[; mís'; ,d bdkbZ dh izÑfr] vkdkjvFkokLo:Ik ds lkFkcnyrkughagSA 

(e) ,d dEiuhdks ^ykxrvads{kd* dh vkdfLedfjfDrdks ,d ekg ds vanjlkekU; lHkkesava'k/kkjdksa 

}kjkHkjktkrkgSA 

(f) funs'kdeaMy ,d foÙkh; o"kZesafdlh /kekFkZrFkkvU; QaMesafdlhjkf'kdkva’knkudjldrsgSA 

(g) Hkqxrku dh okmfpaxdsoytkaplk{; gSfd /kudkHkqxrkufd;kA 

(h) fyIrrk i= dksvads{kd dh fu;qfDr dh vof/k ds izR;sdo"kZ ds fy, izfo"Vdjus dh vko';drkughagSA 

(i) vUrfuZfgrtksf[ke] fu;a=.k tksf[kerFkk [kksttksf[ke ds e/; dksbZlaca/k ughagSA 

(j) fyf[krizfrosnuvU; vads{k.klk{; dkLFkkukiUugksldrkgSA 

(2×10 = 20 Marks) 

Question 2: 

lHkhiz'uksadkmÙkjnsosa% 

(a) SA-315dslanHkZesavads{k.k 

dsvUrxZrvof/kdsfy,lkSnksarFkk?kVukvksadslanHkZesalaHkkforfeF;kfooj.ktksmRiUugksldrkgSdkfofHkUuizdkjdkfo

pkjdjus ds fy, vads{kd }kjkiz;qDrvfHkdFkudksof.kZrdjsaA 

(5 Marks) 

(b) ,dO;fDr,ddEiuhdkvads{kdds:iesafu;qfDrdsfy,ik=ughagStgkaijlgk;dvFkoklg;ksxhdEiuhvFkokbdkbZ

dhdksbZvU;Lo:ifu;qfDrdhfrfFkesaijke'kZrFkkfo'ks"kKlsokesafyIrgStSlk /kkjk144esaiznkufd;kgSALi"VdjsaA 

(5 Marks) 

(c) vLirky ds jksfx;ksalsizkfIr ds vads{k.kesafopkjdjusokysdkSulsdnegS\ 

(5 Marks) 

(d) ,d fuekZ.khdEiuhSteadfast Ltd.ds vdsa{k.k ds nkSjkuvkiikrsgSafdxro"kZ dh rqyukesaldyykHk dh 

njesacM+hfxjkoVgSAmldklR;kiudjus ds fy, vkiD;kdnemBk;saxsof.kZrdjsaA 
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(5 Marks) 

Question 3: 

lHkhiz'uksadkmÙkjnsosa% 

(a) ^xzkgdO;kikjdkKku*,dlEiw.kZvads{k.k;kstukdksfodflrdjusesa,degRoiw.kZfl)kargSA 

(5 Marks) 

(b) D;k /kks[kk/kM+hrFkk =qfV dh [kkst ,d vads{kddkdrZO; gS\ (5 Marks) 

(c) fofHkUurRoksadksof.kZrdjstksvads{kddks;gKkrdjusesalgk;rkdjrsgSafdD;ki;kZIrrFkkmi;qDrvads{k.klk{; gSA(5 Marks) 

(d) fdlhlacaf/kri{kdslkFklkSnkdjusdsfy,fo'ks"kizLrko}kjkdEiuhdhiwoZvuqefrdhvko';drkgSA 

(5 Marks) 

Question 4: 

fuEuesalsfdUghapkjesay?kqfVIi.khfy[ksa% 

(a) vkSfpR; vads{k.k 

(b) o.kZukRedfjdkWMZ 

(c) la;qDrvads{kdksadkmÙkjnkf;Ro 

(d) ykxwfoÙkh; fjiksfV±xÝseodZ 

(4×5 = 20 Marks) 

Question 5: 

lHkhiz'uksadkmÙkjnsosa% 

(a) dksbZikapfcUnqcrkb;s] tksvads{kd }kjkfopkjdjuspkfg;s] dEiuh ds Lopkfyrokrkoj.k(automated 

environment) dh le>izkIrdjus ds fy,A (5 Marks) 

(b) fyIrrk i= dkmn~ns’; D;kgS\ fyIrrk i= dkegRoiw.kZfo"k;&oLrqD;kgS\ (5 Marks) 

(c) ekeykijtksjiSjkD;kgS] dc bldkmi;ksxfd;ktkrkgSrFkk ,d vdsa{k.kfjiksVZesabldsmi;ksxdkrjhdkD;kgS\(5 Marks) 

(d) vdsa{k.kjksVs’kuizko/kkudsvUrxZrdojughadEiuhdsfy,okf"kZdlkekU;lHkkesa ,d lsokfuo`rvdsa{kd dh iqu% 

fu;qfDr ds laca/k esaizko/kkuA 

(5 Marks) 

Question 6: 

lHkhiz'uksadkmÙkjnsosa% 

(a) fe- A viusu;sizkstsDVgsrqQkbZusUlizkIrdjusgsrqcSadx;s] ogkaeSustj us mudkizkstsDV 

ns[kdjmUgsaQkbZusUlnsusdksrS;kjgksx;s] ijUrqmUgksausfe- A lsiwNkfdogcSaddksD;klqj{kk(Security) 

izLrkfordjsaxsAcrkb;sfdliz—fr dh lqj{kk(Nature of Securities) cSaddksizLrkfor dh tkldrhgSA(5 Marks) 

(b) IT Systemsds mi;ksxlsD;ktksf[kemRiUugksldrhgS] vads{kddksmUgsa le>ukpkfg;s o viusvads{k.kesa 

mu ijfopkjdjukpkfg;sA (5 Marks) 

(c) jsaMelsEifyaxijy?kqfVIi.khfy[ksaA (5 Marks) 

(d) dEifu;ksa dh Js.khftlijdEiuhvf/kfu;e2013dkizko/kku ds vUrxZrvdsa{kddkjksVs’kuykxwgksrkgS] 

dksfufnZ"VdjsaA (5 Marks) 

 

 

*** 


